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1. Give very short answer : - 1x12=12

wife 53 Teq fra ¢

(a) “The premises of an inductive inference offer certainty for the truth of the

conclusion.” — Is it true ?

S S SRS PIRES oo Ml S @1 — G305 A ?

(6) Which of .the the following statements is true ?

RIS (PRI Sfe 1oy

() The law of causation is a material ground of induction.

IR [ targ Siosmw It ofe)

(ii) Observation and the law of causation are the formal grounds of

induction.

S S SRGRT [ o e S B |
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(iii) Observation and experiment are the formal grounds of induction.

RSP Sl #5920 SeREe SieeeTS of|

(iv) None of the above statements is true.

SRS (Fell b1 TS oy 723

(¢) “Observation is finding a fact and experiment is making one.”” — Who did

say this statement ?

“Erel C20. o SIREE i S 202 o[ AR 17 — 93 SFEH! @I
(et ?

(d) Which one of the following statement is incorrect ?
Elf,iﬂ: P (P 3(.51 @% B[ 2

(1) Observation is a perception with a definite purpose in view.

el tarm e SrneiE 9 @3 ee |
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(ii) Observation is a perception of natural events.
e are ARo® W A9 |

(iii) Observation is not a perception of events under natural conditions.

ﬁ%ﬁfwaﬁﬁaﬁﬁwmwﬁmﬂﬁmmml

(iv) In observation, the natural events are not fully under the control of the

observer.

S AR ToAIER R AR sl fergen g 2 |

(¢) Which is the last stage of hypothesis suggested by Mill’s definition of

hypothesis ?

WW?{%@@@%WWWI%?

(/) What is the meaning of the condition of ‘testability’ of a valid hypothesis ?

&ﬁﬁaw‘w‘ﬁa@’aﬁ R oL e
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() “When he

“T9re @ﬁWIﬁWWﬁ%W!EI

71 ST SRET 392 91157 | gies
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(S lihe possibility of the docirine of the plurality of causes cannot fiu

strate the
method of agreement.” - Is it correct ?
T SR RS Rei w AT fo2eet S/ e | — GBCHT W o

()

Who among the following philosophers is not an idealist ?
OIS SRS wEReTRY foeqs (PIAISIFT SR o3 2

(1) Berkeley -

e

(i1) G E. Moore

EAA T

(ii1) Bradley

(I
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(/) Name the philosopher associated with the statement — “T hought and Reality

are at bottom identical®.

“mwwﬁmvﬂﬁ”mﬁmaﬂ@mwﬁf@m@aw

TRl 9 |

(k) What is the meaning of the Latin word ‘Religare’ ?

@b SRS ‘Religare’ =BR =izl 2

()  Mention any one similarity between Religion and Morality.

meﬁwamwﬁmm@ﬂm@mqws

2. State fwo points of difference between deduction and induction. 9=

I e SR Siiers 291 757 A1y SrEd <1 |

3. Define bad analogy with suitable example. 1+1=2

S TR PN Al AT See kel 7|
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State any (wo characteristics of analogy.

NPT SR Rleplear 757 ey S

5. Define material cause with an example. [+1=2
CHIRIPTE T el Sike] ol |

6.  Briefly explain any one criticism against Mill’s paradox of induction. 2

REW ST REaerE s Ay GBI SN G i<yt o |
Or / T3

Why Mill’s paradox of induction 1s said to commit the fallacy of petitio principii

or fallacy of arguing in a circle ?

7,
T s [ T s (713 <01 3feT o e
7. What do you mean by a working hypothesis ? o
- PR e I 7 g
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8. Briefly explain any one condition-of a valid hypothesis with the help of a suitable

example. 2

ToRe TAER RS ([ d5E R 57 5% B Y |

9. Why do some logicians regard the method of agreement as a method of single

agrecment ? 2

%@ﬂm@éﬁmwﬁwﬁ%@fﬂﬂwﬁﬁﬁgﬁﬁmﬁm

10. Give a concrete example of joint method of agreement and difference.

e SRR SeRTR @Ol AR Trig<e @l |

11. What are primary qualities ? Give example.

32 el W B2 SN o frzl |

12. Briefly express any two characteristics of objective idealism.

Rl SRAMS Rz 751 (AP B e S
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Briefly express any two points of criticism against objective idealism

T SR B ﬁrﬁ@gﬁﬂmﬁmmwwr

13. State any mwo essentia] characteristics of religion.

=& Ry 761 3o @B S w

14. What is iduction ? State two differences between deduction and induction.
2+2=4

SRR IS @I 2 [Fole S e o =Fl 75T Al S

I5. “All inferences are analogical at bottom.” — - Explain the significance of this
remark. 4
T SR SR o702 AR [ @'E“W@a}tﬁ*{a@eﬂ?fﬁmﬂ SRl
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16. What is a condition ? Briefly explain positive and negative condition with the help

of suitable example. 1+3=4

@ﬂm@mm%?@m@mﬁmwﬁwﬁmﬁ%@maﬂ@%@ww :

@ 53 i s |

17. What do you mean by fallacy of mal-observation ? Distinguish between individual
mal-observation and universal mal-observation with the help of suitable example.

1+3=4
I PR (I IR R gele Soige Swiseen e it s el S
ARG ST T Tes {2 et <

Or / Fi3<)

- Distinguish between fallacy of non-observation of essential instances and fallacy of

non-observation of essential circumstances with the help of suitable example. 4

@ﬂ@@mﬁ%mwﬁamww (T I SRR #Hif<eiifs S

SR (MRS ere ALy W=l 5= |
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Distinguish between explanatory hypothesis and descriptive hypothesis, : 4

VIVELTE 2Po SN ST &< s siiekey Fole) <o |

What is a crucial instance ? Briefly explain a crucial instance obtained by

cxperiment with the help of a suitable ekample. 2+2=4

Wmaﬁwmm%?@WW%wﬁﬁwmmﬁmw
R 55 sl

State fwo advantages and awo disadvantages of the method of difference. 2+2=4

UTSEHT ST 757 R o 70T SR Srere 54 |
‘ Or / 2=

State two advantages and o disadvantages of the method of residues. 2+2=4

ARG 2R 757 R s 701 SR Tz <51 |

What do you mean by naive realism ? State any two differences between naive

realism and scientific realism. D E9—

wwﬁm%w?wwwmﬁawwwﬁmﬁ
A12l<sy Gzl o |
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What do you mean by naive realism ? Briefly express any two points of criticism

against this type of realism. 2+2=4
e AT SR [ e 7 GeReE AR KA R 75! FACAG HICT 2

< |

Briefly express any four characteristics of naive realism. 4

el IBENS RCPIE BRG] ([ B el Sl
Or / 23!

Briefly express any four characteristics of scientific realism. 4
T ABENE [picl bIiEG @rRE DI AT T

What is habitual action ? Why is this type of action regarded as object of moral
judgement ? - 242=4

Wﬁ@mw%?@wwwmﬁﬁﬁm@mﬁmﬂﬁmw
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Define the method of agreement in your own words and give a concrete example
of this method where we proceed from effect to cause. Why is this method called

pre-eminently a method of observation ? 24+242=6

@mﬁ@ﬁmwﬂwﬁaﬁ@ﬁmm@w%@mamaﬁfm@mﬁqﬁm.

T Sl TR 9] PRt SePH 29 | @2 SIS {59 ToTes Wi 2 (] 27 2
Or / 7z<

Define the method of residues in your own words. Why do some logicians regard

this method as a method of deduction ? Explain. 2+4=6

oM o oite #AReE 2t wkel fmn Rooe ofRor @@ anTioR oy

s g1 R See =g =)

What is Berkeley’s subjective idealism ? On what grounds Berkeley has said that

primary and sccondary qualities are inseparable ? 2+4=6

IS gy SRR B AR & 3 30w oT SOAYZ ST o] (T2
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- Or / 729
Critically discuss objective idealism of Hegel. : 6

(201 T SR FENGET RG] SR |

26. Briefly discuss any three of the different elements involved in the mental stage of

voluntary actions. 2x3=6

Afves TR IR wao 25 Eice CAMTANES [Pl [OlG19 [ae 53 Silcs=

SISRCHIE |
Or / 7241

What do you mean by non-moral actions ? Briefly explain any five non-moral

actions. 1+5=6

sifos ot IFE (& g2 R Ab5 Siales R 53 i SRR |
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27 Critically explain any one of the following views - 6x1=6

xS Tovmgze s Riceicn b e TGS, <0 Sisi=epra; 2
(1) Religion is the

source of morality.

43 (208 ool B |
(ii) Morality is the source of religion.

- o9l Tz i B

(iii) Religion and morality are ndependent of each other.

SERCIE NG 225 |
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